AS/JP2000 2005 Test 1-PartI Name:

S #:

I. Choose the most appropriate alphabet to fill in the blank in each sentence.

() KEADEL A

(a) DN E

Q) =, 19

X NI,
(b) BN T (¢) bANT

BHOoTo A TT D,

(@) DAT (b) D F (c) DATZ
(3) fHE. i S G

(a) 7% (b) 17T (c) 17z
4 ZDOLASA, B TIh

(a) AT (b) L& (c) LATZ
06 £72 IEWT £ A

(@) "z 5 (b) x> T (c) MR DIT
(6) Z DHLE TEXLHDT, D ERA,

(@) 7=\ (b) 7= D (c) 727K T

7)) Ly <7z
(a) DTN

®) HDOANT-TH
(@) 1172\ T

9 brobA%E
(a) £VIZ

(10) = DF—7% 10
(@) 723

(D7 A I, £TH
(a) DAT=AT

(12)ZxrorLxrz
(@) LAHTIT

(b) T2V D

(b) MATZATEST=

(b) KHRNT

EOIZLTTFE,

b AITEET,

TANEIITELL,
(c) LETIz

(c) MATZ-ATLI

() b»< T

(d) Ote

@ 1T&E L

(d) ke

d) Mz ot

d) 7=

) #7772 < T (d) 17%7/2< T

Mz ET,
(b) £~ TIZ (c) &£5& d) &5
cm®d W8> T FEWY,
(b) 72N F (c) 72 & (d) 7Zzmn<
A/—/C:\ﬁ—o

[1x20=20]

(b) BITNR2NT (¢) PITNL<T ) bIheno

d) MATAT

@ EEiic



(B ZHOLZTEF, WESZEURZ2WOT, HH AVANGE i
@i L (@©@T @& @b OO (@ »n

(14)b 9 1z ->T MEVERA L,
@2 ®MIE @©@T D& @b OO (i

(15) b1z B LOHESIE, —o BIE2 TR ATT,
@i ®mIEX T @@L @b @ D (g Noparticle

(1) &z LI RESSITAIATEEL X I,
@1z b)y2 (@ T @2 b (@ & (g Noparticle

(ANFAE E,. brotBhARWLEWI ER”SHIATTRN,
T TR ATL X DD,

(a) W TLSHETAD, (O)EV > T HULNTT D,

(c) FFHA®H D E370 (d) BLRELTHIALWNTT

(I8)FE : TAFEHA, FRIEIHL Lo DT ORI T = o
B 22, VDWW TT L,

@ FRERETZNATT, (b) B A TV EH A,

() HHETIXT > Z 9 TT D, d FIHEFWD EL X 9,

(19) 267« ZR T 1 OBRE S A3 5 T,

FA IRV, THEHBAHAO L ORI A o
(@ WHo LoWET, (b) I BN ET,
(c) BWTIZZ2 77, d ZoinEd,

Qo)A FNTIRELEH LT,
FHECZEIFEILHVNE I TINELE, o
(@ ETHITNDELL, by L THZEVELE,
©) FNTH > 5T, d) TIEZFILELLE D,

II. Choose the most appropriate alphabet for the word to fill in each blank. [1x10=10]

() ZBEHZHLv_ 1 12 2 L7milEaik, BRI 3 &L7ED,
4 HZEAZTDLTEnERSsTHETS,

1. (a) H b L () e () F4E (e) <&l H

2. (@) RAELIDL) TASALE (©) Do L (d) 220 () HATA



3. @ F950 (b)) I ) HAXE ) >7F () ZEHZ

4. (@) DV b) L (o) < d £H75 () ILTFXA

Q) KHEAE. 5 UPWIRI w20 6 H#LTWEIERHBDT, 4o

ZUFO__ 7 OULTAZITARR®HLE 5 T,
5. (a) T4FEAT (b) <% (c) NrHL (d) FE (e) —#/E
6. (a8 2)ATALY (b) £5L (c) IZHD d) BXAED () BwHIZ LR
7. (a) K% (b)y DAZ L (c) HH d) Lo (@2 L

B) FDOHHIE, OHY_ 8  IFhRIEALHRAL_ 9 FEnD . BENRRWFAEICE
10 T3,

8. (a) LA L (b) AT (c) LISt (d L (e) LU
9. (@ FEY X259 (b) BLL (c) ZZ\ (d) =23 (e) ~AD
10. (a) D¢ (b) DT H LV (¢) AED (™ (e) INWTZX

II1. Write Kanji (and Hiragana if necessary) for the underlined words provide its English
translation in the designated box in your answer sheet. [1.5x10=15]

O RAD ,EOTHEZFNLKTESUY,

WEHIED T4 H, . BEBHDIELH TT,

DHEHLDIT, LSATLEOWVLEL X I,

HO A NVFEZREC R DLy LATT,

o b W DIRDNTRoIFED (I ERETNNTT A,

When you finish Part I, receive Part II in exchange of Part I. (Keep your answer sheet).
Once you have turned in Part I, you will not have a chance to review Part I later.



AS/JP2000 2005 Test 1-Part I Name: S #:

IV. Read the following passage A and the dialogue B and answer the questions. [2x10=20]

A: TRTZATDHF VDL

F=—SADAKGED 7 7 AT, FRILITADET, BARTRIA7IAT<IIR LA
TTATHET, LIFTARBDLIONKEOKRER/OT, HEAICLEI LS Z LI
7m0 FE L, AREOANIEAES SZoTHE LR, DV BEITEKRLNRNEH T
To F=—ZAFZO XINRIEPSTZDT, HARICT VIR ALEINEF>TH
FLI, TH TN AFUELE2LEBTELL, b O0RY DL RoTNDHDT,
Fo& <, TATHIZIAT Z IRV E LT, ITEWVANITERTHIANTT N, &

o THNH AR ALDNRNDT, Az Bl 5Lt LE L, Auicid, 3
PTAFOANTAALINDS = LR TE A, KETELHPES - EIThoT, L
w9 Z )BT BRI, KRR KIEDIICL D L HEHITWVWWRSKIZR D L9 TY,

Question: Based on the text above, choose the most appropriate answer for each question.
() h=—EADOHARGEDY 7 AT, EARITZLNTTATHET),

(@) AR TRIA TIATEET,

(b) AR TEZ DA ITIF R LT TATWNET,

(c) FE LT AIZOWTDIF R LRNTTATHET,

d) BINEEE RTATIZSZIF R BT TATHET,

Q) P=—SAREUDIZE ZIATE o =D TT D,
(a) 7T FTT, (b) 7 7 AT,
(c) TATHTTT, (K747 TT,

B) TATHFIAT Z Lo T=Di%, €95 LTTT M,
(@) FTATHTETNLILFL L0 29 LINRIRNENLTT,
b)) TATHZIEL D070 Il LoTNDHINLTT,
) TATHZEFET NI FAIELBLL RN TT,
d) TATHZEIT LI F L0 ANGRHDHNLTT,



@) B TADARD B = L1270 £4 7,
@ “ATF. ) IATE.,  © AT (@) FATT

(5) HAZRIE, VWD, EZ TR ZEIZRsTWVETI,

(@) TEEOH S, AARFEDY T AT,
(b) TERDOY S, BARFED Y T AT,
(c) LIEHDOH &, RF¥T,
(d) TR DY T, KET,

B: [=5H)

il AHE A, SHEBKRADE AT HEELNRZ,
AH Wz, EIRVDETTNS, LZAT, PARBEEZEBENLTTD,

L NN BT H A E DAV ATT A, AAEIZLE 57 7 A U A HIC L L 57,
TN TZEL>TNHATT L,

KH %5 TEh, BRI PUROEWL, ZLEIBDRVATTN, TAU D
HII7Z2DWTVWRELS T -7z LTWET I,

Hil 9 T, 7272, BAREIIRIEADBL RV )WL, 2EL TxFy 7LD T
HOIIINSTELERIATT, TH, TAUDHIE, SATALEZ LR
DT, L2EbEos & HENRWATT X,

AH: T, ETTAYBEEZR T, RAEVD O THELESTLES, LYVHVO

TR U NNBEEZAE WO T LEIOM™NLELE D,
Il 25 T, £ U< BV LET

Lob A SEOTIRELNTTA, BEsTHnEFH, ELokb0. BMEsTink
B> XEDTFREN,

6) _  ARHEIATZOHWENRLL,
7 RIS ATHARBEE T A Y DEL ELLICTHNEL->TND,
® _  AKEISAFHEOBE—LVARw T,
9 HUISAEFTAVIEEZSATALIEZ DD S,
|

(10) LS AT DTy A IATE TN E STV D,



V. Compose a sentence in Japanese using each of the following expressions and provide
English translation. Each sentence should contain at least four phrases. For Example,
P2 LIEF % 7 ITATE 72\ has three phrases, but 272 LW F ¥ A ITfT& 72
U has four phrases. [3x5=15]

b= Uik ASSV/R Xy 7z 1ITE720,

(1 = - - L2275

(2) NP VAR

(3) - + -+ (Usenegative) 725 9,

(4) + - - (Useadjective) T%H =+ + -+
B) - FTTEoT

IV. Translate the following sentences into Japanese, by completing the underlined parts

[2x10=20]

(1) Why didn’t you come to the party yesterday?

EDHDI/IN—=T 4 —IT A TT D,
(2) Please tell the students to study more.

FHIT IZE > TR,
(3) Because there was little rain last year, the vegetable did not grow much.

ERTE: DT, REVHHE Y EERDST,
(4) I can read this Kanji (character), but it is difficult and I cannot write (it).

oY CHE B, LT o
(5) Because this computer is too big and very slow, it is no good. (Use —L )

ZOara—2% C ELSHY FEHEA,

(6) Since I did too much shopping last week, I cannot buy anything this week.

S E Y DT, ST .




(7) Mr. Yamashita started to look for a house for rent right away.

LFSAE. BLEs

(8) I have heard that Ms. Suzuki has as many as three cars.

BAS /L. BE=h

-,G\‘j—o

(9) It is okay to look at (it), but you should not take a picture.

Lo LA

WD, BEA

(10) Mr. Tanaka is working without eating lunch properly.

HP XX, ALIT

WIFEREA,

-
(1
n

LCWE4,




